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Sr.

Defense and Strategic Studies

PAPER I1
HDO refers to
HDO 6TeoT LIS

A: Higher Deterrence Order
Higher Deterrence Order
B: Higher Defense Organisation
Higher Defence Organisation
C: Higher Detente Order
Higher Détente Order
D : Higher Defence Order
Higher Defence Order
Assertion(A): Maritime Power is a holistic concept into which the different varieties at sea useful for the national welfare are capsuted
Reason(R): Maritime Power is the sum total of Seaborne endowments which can be availed for national welfare of a coasted country

FaDml (A) : HELEOLFTT F&HH 6TelTLISI (H (L (LHEMLOWITET H[H5S S, @)H 6V BT Q60T aUeTIFF &GS C&Hem6euLITeT &L 60 aw6Ter
LIV S LOM6OT Fo MIGHET 62607 M1t 600TE & LILI(H B M S).
SITIETD (R) : HLEVEFMT F&HD) 6TedTLIS! &L_6960T [H6TemNGHET. @euMenm &L CeVITT HITL L9637 [H6OTeMINE & TS LILI6TLI(HSS6VITLD.

A: (A)is true but (R) is false
(A) &1fl, SpeTITeD (R) Heum
B: Both (A) & (R) are true; and (R) is the correct explanation of (A)
(A) MM (R) & (R), (A) —60r Fiflwimeor eNleng&LInmEGLDd
C: (A)is false (R) is true
(») s, R) &ifl
D : Both (A) & (R) are true; but (R) is not the correct explanation of (A)
(A) LMoL (R) &l @Leotmev (R), (A) ~UWllest Fiflwimest afl6md & L0606V,
Given below are two statements:
Statement I: Baghdad pact also known as central treaty organization

Statement II: Manila pact also known as South east Asia treaty organization
In the light of the above statements, choose the correct ones from the options given below:

FECLD @T6T(H FnMMIGET SHFLILIL (B 6iTermeor :

Faml 1 : LUTHSTSH 2 LeTLIQSmM&BmW I0SFHW @LILIHS {6emL0LIL] 6T6T6VTLD.

FaMml 11 : L0606V 2_L TLI &M, QF6TCLOME LT LILIBS emLnLIL]| 6TTeVITLD.

G Fanw G Fevor(h Femmisefler 99 LiLenLuiev Lereumeusoreumnilev Fiflumereuenms CHFHASH &L :

A: Both Statements I and II are true

Fa MM I LDMHMID Famo I @ Fevor@Gib &ifl
B: Both Statements I and II are false

G MO I LOMHMILD FaMMI 1T @ TevoT(HLD &6umI
C: Statement I is true but statement II is false

Famml 1 &1l QLeTTeL oMM 11 Haum

D: Statement I is false but statement II is true
FaHMl [ HEUMI SLEOTITEV Fo MM 11 &

Operation Parakram was against

* O LIGTEF6T LITTSSR TN’ 6T60TLISI BTGNS THITEH LWeTUGSSLILIL LG
A: China
Georm
B: Srilanka
@6Vl &
C: Maldives
LTeLS 6y

D : Pakistan




LIM& e g mest

In the Security studies speech act is given prominence in

UMSISTUL GMSS LI, CUFSH QFWNES 6HS LaTefl (nsHuggsiealn seaflsRma 2

A: Traditional School
umguflwls uererfl
B : English School
QL mIGevL LieTerf]
C: Copenhagen School
GBS TLIGTCAM & 60T LisTer]
D: Frankfurt School
SUTmmISUFL LeTerfl

Arrange the following central Armed Police Forces in Chronological order of their establishment

1. Border Security Force

2. Indo-Tibetan Border Police

3. Central Industrial Security Force

4. National Security Guard

Nerau@®Ld IDSH W LIMSISTLIL] &Tel6V LI &em6rT, CSMmmieNsasliuLl L 6@ FHWTS Smevalflensliulg HH &S :
1. 6TELEMGVL LIMSISTLIL| LI

2. @BHCHT-HQLIS 6T6LEMEV HITEUG

3. 05HW QSMHMH LIMSISTLILL e

4. GHRAW LIMSHISTLIL &HTEI6

A: 2,134
2,1,3,4
B: 23,14
2,3,1,4
C: 1234
1,2,3,4
D: 4321
4,3,2,1

Kargil Review Committee was chaired by
STIHR6V U165 Well6r SHemevall :

A K. Subramanyam

K. &L yweooflwih
B: B.G. Verghese

B.G. QaufGen
C: Satish Chandra

g6 FHHTT
D: V.P. Malik

V.P. Lomedl&s

Arrange the following events in chronological order.

1. Operation cactus

2. Kargil War

3. Liberation of Goa

4. Pokharan II

B LD G:5600TL BB D6 S 6T {66l HenL LIGQLIMM &revauflenguiley 61(p&is:
1. QL UCTF 60T G &L 6N

2. &TIH6 GUMH

3. @& meum el (H&em6y

4. QUIMSymeoT 11

A: 3,142
3,1,4,2
B: 1234
1,2,3,4
C: 4132
4,1,3,2
D: 2,143
2,1,4,3

‘Who was the chairman of Kargil Review Committee ?
STIH6 Lfl§evener & waller Semeveld Wmy ?




A: K. Sundarji

K. &Bsrel
B: K. Subramanyam

K. &Ly evor wild
C: B.G. Verghese

B.G. Qeuj&env
D : Satish Chandra

FHlelq FHGH TT

Select the BRICS member states:

(A) BRAZIL

(B) Russia

(C) India

(D) China

(E) Sri lanka

Choose the correct answer from the options given below:
BRICS 2_miliIL960ry TR &eneT CHTHOSH &L :
A. Cr&A e

B. gequirm

C. @BsHwm

D. Fevrim

E. @6uElemns

A: (A),(B), (O), (D), (E)
A,B,C,D,E
B: (A), (B), (D) only
A,B,DDLGID
C: (A), (B), (C), (D), only
A,B,C,D LB
D: (A), (C), (D), (E) only
A,C,D,E (LW
Given below are two statements: one is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion (A)- Nehru's conception of national security was not confined to territorial integrity and political sovereignty, with Military Force as its lone guarantor
Reason (R) - Nehru's conception of National security extended far beyond the total life of a nation. It meant freedom of a nation from external aggression, direct

or indirect and freedom from suppression of people by internal and external forces.
In the light of the above statements, choose the correct answer from the options given below:

FECL @ T6toT(H) FoMMIG6T ST LILIL (B 6TET6OT :

Q60T Fm MM (A) 6TETMILD LDMEMTETM SITF6sorid (R) eTedTmud &ML LI BH\6TerTs!.

Famml (A) : C5AW LMsISTLILN6 Chmalle S L LD 6T6venev CHTemLD LDMHMID HTFFIE &HSHH T SH Il [TTEIe
IHHTISHH 6T 2 G GHTUTHLD 6TedTLIS! LOL (HILOGV6V.

&Teoorld (R) : AW Lngismiiiley Grmelledr S LD BTL Q60T (LDWeMDEUWIS STeuT @) BHSS!. S QeuefBmL (B GBI
VLS LDEM(NS SMTHGSHNNBHS BILILMNEG &FSHHTLD MM 2 6TBHTLG WHD QeueflBTL( FHH&6T BLD LD&HSH6T
20 &GS BHS &5HHTD QW GLD.

GUMEnMw Fammssefedmbal, Leraumeuereumnledmb s &iflwmer aflenLenwid CHIHOSH &HaLD :

A Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) MM (R) @resor@® b &ifl inmauld (R), (A) -ulledr &iflwimeor eNem&aI0MEGLD.
B: Both (A) and (R) are correct and (R) is not the correct explanation of (A)

(A) LDHMILD (R) @Teoor(Bh &ifl Lnmmith (R), (A) —ulledr Fiflwimeor ellemd&Ln606v.
C: (A)istrue but (R) is false

(A) &1fl eTTeb (R) SHoum!
D: (A)is false but (R) is true

(A) SeuD 2460TITeD (R) &1f]
William Mitchell was a national of :
aflevedlwih WFQF6H B0 191085 60T.
A Ttaly

@56l
B: Japan

2o LILIT60T
C: USA

2Qwil&aT
D: UAE

2&ERW TG L &6




Match the following:

A. Machiavelli 1. Line of operations

B. Jomini 2. Theory of Armoured Warfare
C. liddel Hart 3. Condottieri

D. Mao ledung 4. Guerilla warfare

1. T &Slweusust Gu BLeauysHensuiler Ga(h

2. Ggomidlesf] UMHISTUL S6ug CUMT(penm Camlium(

3% sOILGIL6b aunmiL &meTGLTigifl

4, wr & g Carflsvsur GUTFwsnm

A: A-1,B-2,C-3,D-4
1,2,3,4

B: A-3,B-1,C-2,D-4
3,1,2,4

C: A-2,B-1,C-3,D-4
2,1,3,4

D: A-4,B-2,C-1,D-3
4,2,1,3

Centralised coordination of all air assets under the control of an autonomous air force command was emphasised by :

R(h FSHHHTLOMET aUTeTG6u6] LI FH&ETISH 6T S0 mWLILBHSS) Si6meTdH S 6UTTR6U6T Q&F TS e S WD
R(BMHIG 0T ILISI 6T6OTLIENS G MILIGUTT :
A: Trenchard
QQTETFMTL
B: Seversky
QFQaTEVE
C: Douhet
heamL
D: Mitchell
)| MaF: 1))
‘Which ancient Military organisation did Machiavelli analyse for his strategic study ?
DTSSR W616v60 HeTgl *CLIMTSHH MET QY16 —8E 6THS G\ STetTenLWITeoT Lien) L UNem6or 6T(h & S8 Q& TesoT LTI ?

A: Greek
RCT&HSHLIN
B: Assyrian
A flueor
C: Babylon
umLNGevmedr
D: Roman
GyTLnedT

Match List | with List Il

List | List Il
A Amatya I Minister
B Janapada i Army
C Kosa Il Territory
D Bala IV Treasury
QUIMT(HSHIS :

GUITT 60 SHTHHD
(A SwsHwum U] whSf
(8) LETUTSHT (1) usmL
(c) Camem (y  ersvemeu|
(o) Lm0 (V) sgmem

£Cy sruulerereunniledmha) Fflwrsreunhenms CaTHOSHESWD :

A: ALBILCILDIV

(A) - (D, (B) - D), (C) - (1), (D) - AV)
B: ALBILCIV,DII

(A) - (D, (B) - 1D, (©) - (IV), (D) - (1))




C: ALBILCILDIV
A)- @, (B) - (1), (C) - (D), (D) - V)
D: AIV,BILCI DI
(A) - (IV), (B) - (IN), (C) - (D), (D) - (1I)
Modern Warfare allows for no distinction between combatants and non-combatants - was a point made by

SMH&ETeL GUTTWenMUileL FevoTenL GUITGILIQIT DMMILD FeuoTenl GLITLITHEUT 6T6dT&H M LIMGLTH &em L WIMS eTedrml
Famlweur :

A William Mitchell
allevedlwid AL QFev
B: JFC Fuller
JEC. 4yeveuly
C: Che Guevara
CF &Geugm
D: Guilio Douhet
FRweCWm CLTamL
Choose the correctly matched ones :
1. Jawaharlal Nehru - Non-alignment
2. Mahatma Gandhi - Non-violence

3. Karl Marx - Pelepponesian war
K.Subramanyam - Bhoodan Movement

Flumsl QUITBSSLILIL L emeal&emersd G HOSH&&aLD :
1.5360aMJeVTeV CH(H- Fal (H\&F CFIIT 3j6v0f]

2. IDS&TSHIOM HMTHH — Hamibens

3. BTV IDMI& 6 — CLeVBLITCeT & Wietr GUIMT

4. K. &9y wesoflwib — LG TeT @ W& &0

A 1and 3 are correct
1-1b, 3 -1b &
B: 1and2 are correct
1-1D, 2 -1b &ifl
C: 2and 3 are correct
210, 3 -1b &ifl
D: 3and4 are correct

3 -1, 4 -1b &

According fo Lenin, the Universality of contradiction are:

List 1 List 1l
Subject Meaning
A. Maths il Actionand reaction
B. Mechanics (i)  Phus and minus
C. Physics filij)  Positive and negative electricity
D. Chemistry (iv) Combination and disassociation of
atoms

Choose the right answer from the options given below:

Gleusufleme GlLmpISHSEuUEnTT, (LITETITUINLIg6H 2_eUBETIElIL SHEITENLOGBEIT S,660T |

Ul igwish | uliguwsh Il
umLLD SITHBID
(A)  semflgbd (i) @EwgID, st JellsmenTuyd
(B) Qusseilwsy (i) FalLgYD, HUf)&H5e) D
€ Hubiwsy (i)  Gmiwrmres WHDID eTEFLOMMDTeT
ulesTEmyid
(D) GsuHluTwsy (iv) Siassafler Gafsens whHmIb Semey

&Gy blanfasuulhletamsubmlsy, Fflwmsr uglamaus Cai oS ([HlssaD :

A: ALBILCIIL DIV

(A)-(1), (B)-~(i1), (C)-(iii), (D)-(iv)
B: AILBLCILDIV

(A)-(ii), (B)-(1), (C)-(iii), (D)-(iv)
C: ANLBILCIV,DI

(A)-(iii), (B)-~(i1), (C)-(iv), (D)-(1)
D: AIV,BILCILDI

(A)-(iv), (B)-(iid), (C)-(ii), (D)-(1)




"The doctrine of nuclear deterrence is based on inducing fear in the adversary of the possibility of extreme pain, if continued on a course of action which was
perceived to be endangering the security or vital national interests of the concerned nuclear weapon power", said by

" 96l S USHS SO LILS CHTLUMH), FUBSLILLL 3ie0l 98 F&HH U6 LMSISTLL s (NEHER W CHF W
BEVETSHEHHEGS LGS gHLGSSIUSTEHES HHSLILL L BLaI SHam&WIEr CLUTEHW Q5TLIHSTe, HellT aued gD
FISH UG T MG BlaUTHE QF UG, 3FFSHMBS SMeuoT(HelenS 1q LILIMLUITSHS Q&ML Sl," 6TedTmal T

A Andre Beufre
ay600TL_ Gy GUITH BT
B: K. Subramaniam

K. &9 yweooflwib
C: I F.C.Fuller

JFE.C. &L|6V6euly
D: Capt. Liddel Hart
G&LIL 60T 6960 @mTFL
"A surprise attack by the nuclear forces of a given state against targets of another state" is called,

65 BMT(H) &60T6vf 1L (LOETEIT 260 3, U1 5561560618 G185 M6uor(h), @) 60TGI60T IT(H BITL_LQ 63T E)6V8: (&8 6METS HICO T6TMI &IT8 S 60T M6,
MG GTEOTMI QIFTEVEVAVITLD.

A': Preventive attack

5OULS BMEHSSH6V
B: Counter Force

TR F&HH
C: Counter Value

TR G

D: Pre emptive strike
LT L1 CW HTEHGSH6V FLSSI6USI

Choose the right combination :
(1) Taliban-Afghanistan.

(2) Bokoharam-Pakistan

(3) AL Shabaab -Somalia

(4) Lashkar-e-Taiba-Nepal

sflwreT QUITBSSHMBH CaIHESH 6D :

1 sredluest - L& mevlleiog mesT
2. GuresGasramrymssr - umélsiug mesr

3. 360 aELITL = Garomedlwm

4, susin&T-@-swur - Grumemd

A 1,2 are correct
1-2_1b,2 -2 1d &1l
B: 1,4 are correct
1-2_1b, 4 -2_1b &1l
C: 1,3 are correct
1-2_1b, 3 -1b &l
D: 3,2 are correct

3-2.ID, 4 -1b &ifl

Arrange the following Nuclear Doctrines in chronological order :

1. Flexible Response

2. Preventive Warfare

3. Preemptive strike

4. Massive Retaliation

LNeTaupLd S|em1F5HH 6 Q& TaTe0 &5 6M6Ts &Tev UflengLiLlg B &&HaLD :
1. Q&R LpaITeT LIS 6

2. Gy GUImy

3. (PETFR L1 CUW HTHG6USI

4. QUEBLD UG evLg

A: 2314
2,3,1,4
B: 1234
1,2,3,4
C: 4321

4,3,2,1




24

25

26

27

28

D: 2341
2,3,4,1

Maintenance of morale is related to :
06T 2 MIFH S HemL LN LILS @SDHSHTSE :

A Disaster Management
GuflL GLD6VTEToTEmLD
B: Principle of Migration
QLD QUUWTe& Q&TeTend
C: Principle of NAM
2|6o0fl GFIT @ UISSHES Q&TETanNS
D : Principles of war

QU6 Q& M6t 885 6iT

LIC requires the Planning and Conduct of operations based on
(A) Political Dominance

(B) Unity of Effort

(C) Adaptability

(D) Legitimacy

(E) Ambassador

Choose the correct answer from the options given below :

—80 I LI WITSHS Q& Mevor(h), Q&FWaLNenmUNer HL L allgalsHens b, Q&F w6 meniuld Swmifliiug, LIC
~-5& CHMEUWITS 2_6Tersl.
(A) SITEW6L 9L,H &S0
(B) (LW UM 6T spHmiemLD
(C) Bp6uey
(D) FLLLLIJeULDIT6OTSI
(E) graleuy
FEC Q&ETOH&LILLG6Taraummilev Fflwmer LFlemevs CHIHOSH &&HaLD

A: (A),(B), (D) only
(A), (B) LDHMILD (D) LOLGILD
B: (A), (B),(C), (D) only

(A), (B), (C) LoOMILD (D) LOLHID
C: (A),(B),(C), (E) only

(A), (B), (C) LoO@ILD (E) LOL(HILD
D: (A), (B), (C)only

(A), (B) LDHMILD (C) LD

The aim of the Warsaw Pact was to contain-

25 &L HLULGSS0CH aTIFT @LILKESSHH 60T CHTHEHID 3L GLD.

A Communism

Slbw,eufleruin
B: Capitalism
Wwaemeflgglalln
C: Marxism
WTFSEHWLD
D: Nazism
BT&euLd
ISIS, means
ISIS eT6oTLIS!

A Islamic State of Independent Syria
Islamic State of Independent Syria

B : International Security & Intelligence State
International Security & Intelligence State

C: Islamic State in Iraq & Levant.
Islamic State in Iraq & Levant

D : Islamic State of Indian States.

Islamic State of Indian States

AFSPA, means
AFSPA 6T60TLIG)I LG LD.

A: The Armed Forces Special Powers Act




29

30

31

32

WS L ApliL S&TTEF FLLLD
B: The All Forces Safety and Protection Act

2|e6UTH ST LIt L G6rl6dr LIMSISTLIL IMMID @LISTLLE FLLLD
C: Armed Forces Security Protection Act

WS Fepd UMSISTLULF FLLLD
D: Safety and Protection Act

UMSISTUL moh QLFsTULE FLLLD

The Deterrence has four aspects with regard to U.S.A. & Russia's structures and War Plans.

(A) the possibility of high-technology conventional warfare.

(B) attaining arms control with potpourri of nuclear and improved conventional forces.

(C) the replacement of a single political divide between the East and the West with a plural set of controversies.

(D) the "ACI factor" of accidental, catalytic, or inadvertent war.

(E) through NAM attaining international peace.

Choose the correct answer from the options given below :

2QWIGS&T, LHMID FaquwmeeT &L L enLIL|&6T, Lommild CUTTS S L BIGam6eTL QUITMISE 6T, CUMTS SHLIL] TS
I|LDFMHIGHE6TSH G & MeuoT(H6TenS :

A) 2w Qamdlevmi U wryyeudll GUTHE ST FMESH Wb

(B) &igw LnMmmILD GLOWMLL L 06Ul & U |55 MbIg 6l 60T 8606m6u L L 60T, QbW S MmIG6Ter &L HILILTL L 3{emLalgl

(C) PP&H&ESH W InHMID CMH&ESH W BMTHISHEBHESE @60 L GUIWITET MHenm THUWIG LN6Temel, L& & L0IT6T & )& 608 & 6r1 60T
LIeTenLng Q& M&GLILIMTeL DMMMIeU S

(D) BMHQ&WEVTET, 6l6meT W, 88 VeV &HalaTs Gemmaleotl GUITfler 'g& e (ACI) &Tiyeof]

(E) &j6v0f] & M) &6rfledr dnl LemnLILN6dr ep6uLD, 2 608 &FLNMSITETD GILIMIAIS

FECL OHTH&&LLL B 6eTaTeumn6n, FflwmeT LG enevs CHIHOSH &HaLD

A: (A), (B), (C)only

(A), (B), (O) LLLBILD
B: (A), (B),(D) only

(A), (B), (D) LD
C: (A),(B),(C), (D) only

(4), (B), (C), (D) LLLGILD
D: (A), (B), (C).(D),(E)

(A), (B), (©), (D). (E)
Arrange the following events in chronological order.
(1) The Korean war.

(2) Revolution in Hungary.

(3) The Cuban missile crisis.

(4) The prague spring.

FECL QHTH &S&LILLBH6TET BlaLpesemer &imev auflenaliLig Bl
1. Qasmflwl Gury

2. ammIGslulley LTl &

3. SW,LIGIT 6J6) & 60)600T Q\[B([H& 519

4. 1M eUFHSLD

A: 1,4,3,2
1,4,3,2
B: 1,2,3,4
1,2,3,4
C: 4,3,2,1
4,3,2,1
D: 1,2,4,3
1,2,4,3

Which of the following treaty / convention is not ratified by the United States of America ?
FELps 6T LILIBSBIGET 6 eTemal QW& G UWTFT BISEHHE&ILLaN0emen?

A': ABM treaty (Anti - Ballistic Missile treaty)
ABM @IS0 (8600t LD 6L () &HE00TL_LD HTELD 676155 60)600T S6ML)
B: MTCR (Missile Technology Control Regime)
MTCR (6768606007 6T6V6M6V &L HILILITL(H QG mLSl6LmBIL LILD)
C: CTBT (Comprehensive Test Ban Treaty)
CTBT (Fa.L_(h) |60 GFMHM6T HeDL LILIHSHLD)
D: CWC (Chemical Weapons Convention)
CWC (@ U&FMWET QW& LIWeTUTL (R HemLl LB L)
On November 19, 1990, the heads of 24 NATO and WARSAW Pact nations signed historic treaty to end cold war at . In which city was the historic
treaty between NATO and WARSAW Pact nations to end was signed ?

19909410 &,600T(H HeULDLIT 19, 24 GHLGLIT LOMMILD eUMTTaq T eL1LIHS HT(H&ET &) 6MetoT S 6UTeLTMHMI eLILIKBSSH 6V
&AWL L@, Lefll GUTT (01968 & Q& TeooT(GeUTLILILL Sl 6THS BH&HFSH 6 158 CHLCLIT LOMHMILD eUTFaqm




33

34

35

36

BTG &EB&EHR L ulevmer CUMTT BlMIGSSSH NS ILBSLD BlenmGeummLUiLL L gl ?

A London
(3) 6V600T L_60T
B: New York
Bluwimgs
C: Paris
umriflenv

D: Moscow

LOTenVGSIT

Which of the following is not a bilateral Nuclear Agreement ?
1. START

2. SALT

3.NPT

4. CTBT

B LD G 600TL UM MIET 615 @B STLIL (e F5B) LILIBSLD G 6vemev ?
1.START

2. SALT

3. NPT

4.CTBT

A 1 and 2 are correct
1 oMb 2 &Fifl
B: 2and 3 are correct
1 mmih 3 &l
C: 3and 4 are correct
3 mmih 4 Fifl

D: 2 and 4 are correct
2 ommib 4 &Fifl

Which among the States are not the signatories of NPT ?
1. India

2. Australia

3. Israel

4. USA

e WS LWeTUTL. (B Sl @LUILUBSSH 6L em&QWITLILLD @ LTS BTH&6T eTenel ?
1. @b&wim

2. SLeVH Gredlwim

3. @6Giyev

4. 91QW & &T

A: 1and 3 are correct
1 Lomomib 3 &Fifl
B: 1and 2 are correct
1 nmmih 2 &l
C: 1and 4 are correct
1 Hmib 4 &l

D: 2 and 3 are correct
2 nmmih 3 &ifl

Which of the following is not a bilateral agreement ?

FELD S E00TL UM MIET 673 @) (HLD LILIBSLD §)6veme ?

A: SALT-1
SALT -1
B: START-I
START -1
C: INF
INF
D: NPT
NPT

Which of the following countries involved in Strategic Arms Limitation Talks ?
eLNGEUITLIMW 9LUS euFibL] CUFSHG&6lev FRILLL BTH 86T Li6iTel[HelesTal M MIET eTenal ?

A: U.S.A - China
QW&&m - Feorm




37

38

39

40

41

B: U.S.A - Soviet Union

OW&&T - CFmeilwg w,eofluleor
C: India - China

@BH W — Eeorim
D: UK - France

&R BTH\&6T — LT mesrery

Which of the following States are not signatories to the Comprehensive Test Ban Treaty (CTBT) ?
allifleumet s GFMSH 60T HeOL @LILIBSHSH 0 EHQAWTLILILD @)L TS BT(H &6T eTenel ?

A: China
Georrm
B: Germany
Q7 neuf]
C: Japan
2L 1LIIT60T
D: India
@bewT

Which one is not a method of Peaceful Settlement ?
B LD G 600TL UM MIET 6T% FLOMSTET CLIGFGFHAUTTENS (LDEDM 3{6U60 ?

A Negotiation
CUFSHAIMIEMS
B: WAR
curmry
C: Good Office
FDHS SWEIEVSD
D: Mediation
FwimeorLb

Which of the following is not Principal organ of the U.N.O ?
G LD G 600T LU M MI6T 6Tem6u UNO —60T (DG ETemLn Si6mLnLiL] G)6V6m6y ?

A': General Assembly
QUITE FemLl
B: Security Council

UMSISTLIL] &6 6TF 60

C: ICJ
20.6.62

D: Senate
Q6T

Identify the Russia's Nuclear Programme Chronologically:

(a) Acquisition of Thermo nuclear weapon

(b) Soviet Nuclear Test

(c) Sputnik launch

(d) Signing of SALT - I

Choose the correct answer from the options given below :
geflwmeler oan &8 L LnkiGmeT SmvalflensliLGSSIs :
(a) QeULIL 3|60 9| &I 606T GlLIMIGH6)

(b) MW el G&F TS 60 60T

(c) 6vLL_eof1 85 761 G 606007 6l 600T60016L QF SIS H WISl
(d) SALT I @LILIBSHSEH 6V en&SBQUIMLILID

B L& evorLeummieT Flmearen ss CHe| Q&FUls.

A: (a),(b), (<), (d)
(a), (b), (¢), (d)
B: (d), (c), (b), (a)
(d), (c), (b), (a)
C: (b),(a), (c), (d)
(®), (a), (c), (d)
D: (b),(c), (d), (a)
(), (c), (d), (a)

Which of the following is the foremost reason for cold war ?
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GO QHTH&&LILL B 6eTaTeumn6v 611, LieoflL GLIMIHE @ (LD ET6mLO UITEOT & ITJ600T LML ?

A': Migration between the two Super powers.
@\ 7600T(h) EUELEVIESHEHE G @6 L GUIWITET @)L DA LIWLITSH6
B: Human Rights between the two Super powers.
@\ TeoT(H) UVEVTESEDHEG @60 L CuIImeT eofS 2 [flennger
C: Antagonism between the two Super powers.
@ T6T(H) QTS EBEHEG @) 60 L GuIwmeT ellGFmaLD
D : Environmental issues between the two Super powers.
@ T6uT(H) UVEVTEGEH S @)60) L CUIWITET SMMIFELpev LI TG emeorgs 6t
VARUNA(2001), GARUDA(2005)and SHAKTI(2011) bilateral Military exercise were between .
QUIBETOTIT (2001), &IBHLIT (2005), LDMHMILD F&EG) (2011) @BSTLIL @Tmemiaill Lulme), BT(H&EH5ES @60 GUILITETSI.

A: India- UK
QBB WIT - @RIRVTHSI
B: India-US

ABHWT - QWwf&&T
C: India - France

@BIWT - LNymera:
D: India - Australia

@BHWIT — ,6H Credlwim

Millennium Development Goal 8 called for

16v6eSefl LD QIETTES @ 6v& S 8 -5& mpliL NHSHSI.

A: Collective response to climate change through Global partnership
2 EaTmellW gl () eUTUI6LITE &6V Blenev LDMMHMESIHE ol (HIL LHL Q&THLILS
B: Equality and Women empowerment
FL0SSIaID IDMHMID QLICTTHEHEHESG NP &TTLD LM 60
C: Eradicate poverty and Hunger
QUMIEHLOE W LD, LFlemwiuLd efILiLig)
D: Combat HIV / AIDS
Qamgmall/eriil e - TR TSIl GUTT Lifleug

Match List - with List Il
We the people of India, having solemnly resolved to constitute India inte a Sovereign, Socialist, Secular,
Democratic, Republic and to secure to allits citizens :

List 1 List 1l
(A} Justice Il of thought, expression. belief. faith and worship
(B]  Liberty (0] Assuring the dignity of the individual and the unity and integrity
of Nation
[C)  Equality () social, economic and political
(D)  Fratemity (V) of status and of cppertunity ; and to promote among them all

Choose the comrect Answer from the opfions given below :
ULiguiel | -go Ll iguwisd Il 2 Leir Glummas)s @
@S wasstrd s, @bEwrens @un @enpwrsimeni Garsir. Gerasils

WHFFTTUDID 60 HTILESSH (GGITEFTES 2 (HEUNTHSEYD, SIHET HENEMHE) (& HL0EHS EHES 5D
ungsmiuefldgseyb 2 miEuLsir SirwreflsgerGammb :

Ll igus | UL iguwso 11

(A) B (i) erenaTemTrisa e, 2 smrisdaafls,
wblEenasefler, wg L &mesaefls,
w5 suflunflsefisr

(B) &ambEnb (i) seflwssllgeflsin evomsmflwsE O ED, HLigesr
@HOIEND HNID @HELIUTLEHED 2 i)
FaNIHE

{C) FLOGHIUD (iii) F(PSTWILD, CIUITHETTESTT WHMID HTFws)

(D) FCEMEIHSIAUD (iv) FPSTW S|HSEOFID, SumILILLD; Sieng
e Geum(mé I suphiGeuSlg |
&Gy Qarflssuulflerersuniedmha eflwrert ubameus CoiH6lsH SHaD :

Az (A)- (D, (B) - D), (C) - (M), (D) - (IV)
(A)-(D), (B)-(ii), (O)-(iii), (D)-(iv)

B: (A)- (D), B) - D, (C) - (1V), (D) - (II)
(A)-(i), (B)-(1), (C)-(iv), (D)-(iii)

C: (A)-(1V),(B) - 1), (C) - (), (D) - (D
(A)-(iv), (B)-(ii), (C)-(iii), (D)-(i)

D: (A)- (), (B) - (D), (C) - (IV), (D) - (I)
(A)-(iid), (B)-(D), (C)~(iv), (D)~(ii)
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Which of the following is / are True?

(A) Today, at least there are Five nuclear powers

(B) The United States, United Kingdom, France, Russia and India are nuclear powers.
(C)Explicit policy changes that suggest the possibility of nuclear retaliation against attacks
(D) It is a Foreign policy for soft power

Choose the correct answer from the options given below :

FECL QHTH&&LILL(H6TaTenaugs6rflev 615l / eTemeu Fiflwimearene ?

(A) @TH), GODHSULFID BHS FSS BTEHS6T 2 6Tearer

(B) 211G &M, @BHeunhEl, LNFmers:, Jaquim, @hEHWT, eFsS HTH &6TTEGLID

(C) QeuerliLIemLWIMeoTs: Q& MeTemss LMMHMIEISHET, HMT6HESH608HEHE5EG LSS (el oW SL LFel Q&TEHLILMS
2SN ME0T1 8585 606855 60T M 60T

(D) @ 8! (b QLOETEN DT F&H &S TeT QaueflBTL (H& Q&MeTam&HWTGLD. B Q&THHSELILL (B aTarenalgerfledmbal
Fflwmer USemevs CHTHASH &S :

A (A), (B), (C), (D)

(A), (B), (C), (D)
B: (A),(B), (C)only

(A), (B), (C) DL BILD
C: (A), (D), (C) only

(A), (D), (C) LLGBILD
D: (A),(B), (D) only

(A), (B), (D) LLLHILD

Which of the following is incorrectly paired 2

1 PHwRs - Pressurized heavy water reactors
2. FBRs - Fast Border reactors

3. PLF - plant Load Factor

4 Usss - metal detectors

Heunnsl Qurpbslwsumhanns Cairey ClFwwey :
£C Qanhlssuul Hsreareunniey g Seummsl QummpssUUL HeTearg) ?

(1) PHWRs - SY(WPSBUULL SeuT B} 2 smevsseit
(2) FBRs - Gous e emenss e
(3) PLF - SYEDEY FHEDLDS Siyennfl
(4) U233 . 2 Geunas mavor(Hl Tl iLmeTiaeT
A: land3
1 LoMmmib 3
B: 2and4
2 LoMMILD 4
C: 2and3
2 10MHmIb 3
D: land4
1 LnHMILD 4

Choose the right matches among the following :

(1) The Universal Declaration of Human Rights (a) 1948
(2) Millennium Development Goals (b) 1972
(3) The EU charter of Fundamental Rights (c)] 1950

(4) Declaration of the Rights of persons belonging to Nationalor  (d) 1992
Ethnic, Religions and Linguistics.

GEeL GMG&&LILL B 6TeTeaneaugerfley, FHWMTL QUTHSSMHIGH6TES CHIHE S H &HEHLD

1. neflg 2 flemingerflet 2 euaermellwils LNysLeorin — 1948

2. evedleoflwiLd eUeTTER E)6v8 @& 86T — 1972

3. g liemL 2 fleming & meor SCTTLILIW FEerih — 1950

4. GEBHIW 2j6V6VG @6, IS, LnMmMI QLTS FMFhHgs BUFsefler 2 fleningeT Lmnilw ipfledliin] — 1992

A: 2and 3 are correct

2 mmib 3 &Fifl
B: 1and4 are correct
1 mmib 4 &l
C: 1 and 3 are correct
1 oo 3 &
D: 3 and 4 are correct
3 mmib 4 &Fifl
UNODC full form is

UNODC —ulleor eflifl&&s10,
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A': United Nations Office for Developing Countries
QUET(BLD BT(H & EBH 55 TET B&RW BT(H&HET FL! 3|eVIaIVELD
B : United Nations Office on Drugs and Crime

GUTemNS LI QUITIHET LDMHMILD GMHMLID QST FLITET B&&HW BHTHISH6T Feoll IeIaIeV&HID

C: United Nations Office for Disarmament Commission
DEH W BTH\G6T FeoLl BT ITU G LITE0T] 2, 60)600T WLILD
D: United Nations Office of Development Counsil

D& BTH&H6T FeLl aIeTTFF & &6 60TE 6V

Which of the following is not the briquetted fuels can be used by individuals, commercial and

house hold sector 2

| Cooking x Hotels, houses, canteens and Restaurants
Il Gasification 3 As a fuel for gasifiers

I Construction 7 Sand and iron

IV  Steam generation : Boilers

EC GM&sLILL (BeTemeumnilev eTemal, &eofl HLITSET, aueoflas Ll LiweTUm@® oo ef (h 2 LCWT&HSSISH G LIWETLIL TS

"Ufl&Qeul L eriflQuUT@eTaser ?

L. FMOWIG — R L6V&6ET, 6TH &6T, CHETIC6TSHET, 2_6tore) 6l (H G & 6T
1. QUMW EITSHSLD — QUMW IMTER GG eTflQUTH6TTS

III. &L_(h\LDTEDTLD — LO6D0T6L oM MILD @) (HLOL]

Iv. Bymell 2 (Heum& &b — Q& TH) & 6v60TS 6T

A: Tonly

1L (LD
B: Ionly

II LGl
C: Ilonly

I LD
D: IVonly

IV LG

Climate change leads to :
&6V Blemev LDMHMLD -56 e UGERMII.

A': Human Rights Violation

weoflg 2 flemin Wmev
B: Diplomacy failure

QU sHE TS Cs el
C: Foreign Policy

QaueflBITL (B & Q& MeTemn S
D: Global Environmental Issue

2 euaeTmellw &M @ELpev LTS emeords et
According to J&K Reorganization Act 2019, the state split as
1. Ladakh(without legislature)

II. Jammu and Kashmir(with Legislature)
III. Ladakh, Leh and Jammu Kashmir

DLW & &M LST LMIETalILE FLL LD, 2019 —E)6dT LILg, LOMBleuLD
L 6ULIT& (FLLLO6TMLD G 6V6VITLOG)

1L QW & HTEQLST (FLLLOGTM S SIL60T)

1. UL IT&, G6v LOMHMILD VDLW & & T LST

A: IlandIII

I Lo MILD 11T
B: Il only

11 L ()LD
C: TandII

I WMHmILD I
D: Tonly

I 0L (b

The vision of SAGARMALA, a National Programme is to

@eueurm ifl&asliul L g

FMS&FLOMEVIT (SAGARMALA) 61607 CHF W B S5 607 QFMTemevCBTEHGLI LITFenel @ SIeUT@GLD :

A': Reduce sea piracy

&6V Q& ITETEM6TEnLIS &6MMEH60
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B: Reduce Logistic costs for both domestic and EXIM Cargo, with minimal Infrastructure investment.
GBS LLEF 2 6oL LennliL WS6S.HL60T, 2 6THITLG CUMGGITSS! L0MMID EXIM & 78 G 8 @58 86T &HeTelTL &
QFVE|FHEMETE &6 ME G560
C: Increase Trade of Fish.
LB6T UISSHHMS D SI1S5H6V
D: Reduce terrorism by 2030.
2030 —8(& 6T LIWMI&HTeUTHHM S E 60 M SH60

The Kargil intrusion was masterminded by Pakistan in the form of anyone of the following operations:
STFGR6L 261({H) [HeUeL LITGH 6N MeoTmey L 6iTeu(BLD L6180 & &6rlev g GHemilh eedrnil6ir eneuld S LUl L g :

A: Operation black Thunder
2LLIGTaq60T L6TTes &e6vorLij
B: Operation Badr

2 LIGTRQ 60T LIMGIT (Badr)
C: Operation Vijay

2 LIGTaq 60T aflegLl
D: Operation Cactus

9LLIGTAQ60T &5ME L6 (Cactus)

Which of the following is incorrectly paired ?
1. NNWS - Non-Nuclear weapons states.

2. NWFZ - Nuclear weapons fire zone.

3. UNEF - United Nations Emergency Force.
4. MAD - Mutually Assured Development.

L etreu B eusrelmml6v 6181 SeaumTes @) emevor LILIL (HeTeng ?
1. NNWS - Non Nuclear Weapons State

2. NWEFZ - Nuclear Weapons Fire Zone

3. UNEF -United Nations Emergency Force

4. MAD - Mutually Assurued Development

A 1and 3 are correct
1 nmmih 3 &l
B: 1and?2 are correct
1 oo 2 &
C: 2and 3 are correct
2 nmmib 3 &ifl

D: 3 and 4 are correct
3 Immi 4 &F1fl

IPOI, denotes
IPOI GMILILIS

A': Indo-Pacific Ocean Initiative
Indo-Pacific Ocean Initiative

B : Indo-Pacific Ocean Industry
Indo-Pacific Ocean Industry

C: Indo-Pakistan Official Interactions
Indo-Pakistan Official Interactions

D : Indo-Pak Operative Initiative

Indo-Pak Operative Initiative

Which of the following factors is / are the Strategic Concern for India on CPEC ?

(A). The CPEC passes through Pakistan's Gilgit-Baltistan region that India considers to be a part of the disputed region.

(B). China's infrastructure building activities in this region undermines India's claims.

(C). India believes that China is no longer a neutral party to the Kashmir dispute between India and Pakistan.

(D). China's State-owned company obtained the contract to operate the Gwadar port for the next four decades.

Choose the correct answer from the options given below :

WereumLd s myentilgerfley e1gi/6Temeu CPEC —60 @ BH UWITEYSH ST WHSH 2|&H&HammWITS 2 6Tengl ?

A) FiFeangsHG W LFmhH WSS 6 (b LGH WTE @HHWT &H@HBSID LITH Vs Tear, G L — umedausmer LGS euldlwims
CPEC Q&0 Rm I

B) @b NyrhHeH WSS 6) Feormeller 2 6L LenlnliL] &L (HILDOITET HL 6L 560 &6 @) HS WImel6dr gn M Mg emerr
G&mPLHINDG 2 LG SSHDS!

(C) @BHWIT LDMHMID LIMTHReVGMeT @enL Guwimer &meaq LSy LgFReneruiley Earm G 6ol BHBleM6V QR &GS TS eTeoTml
@BHWIT BOLGDS!

(D) HS&S BTG SFTUISEISHEHHG G6UTSHT (Gwadar) SIEOMWNEHS MG @)W & &G 6USHMETET @LILIGBSSNS FeorTell6T 3 J8 58S
QEFMBHSLOMET BlmieUeoTd QUDHMS!.

BC Q&TH &S ILL(H6Ter efBLILRG6M 6 @bl Fflwmear LS eme C5ie Q& Wiwa]i.

A: (A), (B), (C), (D) only
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(A), (B), (C), (D) LLL(BILD
B: (B),(C), (D) only

(B). (C), (D) LOL(HILD
C: (A), (D), (C)only

(A), (D), (C) LL{BILD
D: (A),(B),(C)only

(A), (B), (C) LOLBID

operation Vijay, Liberation of Goa and other Portuguese Colonies held in the year :

2, L1GTaq 6T aflgll, Gsmaum nmmild Lm CUTTSSHSER W &meverflaarfler all(h&emev 31D 9,600T(H) HEMLQLIMHMSI.
A: 1947
1947
B: 1961
1961
C: 1965
1965
D: 1971
1971

The first joint Anti-terrorism military exercise "Hand in Hand 2007' was conducted by India with one of the following countries :

WS Fal(h) LWMBISTaUTS fHFLIL @Tmemiey LWnHE "CamenorL. @) 6T GameuorL_ 2007" @ bW meumey GLpgseuorL BT (H & erflev
6TAl6L FLSSLILL L S :

A United States of America

QW58 BER W HTH &6T

B: China
Georm

C: France
LNy medreny

D: Russia
geiqum

Given below are two Statements:

Statement I : CDS, denotes Chief of Defence Staff.

Statement II : DCC, denotes Defence Committee of the Cabinet.

In the light of the above statements choose the correct answer from the options given below :

FECLD @T6T(H FnMMIGET Q&T(H &S LILIL (HeTerenT :

FnMMI I :'CDS' 6T60TLIGI Chief of Defence Staff.

FamI 11 : 'DCC' 6T60TLIGI Defence Committee of the Cabinet

FECL OHETH&&LILLG6TeT ellBLLmkIS6af e BHS &iflwmer LHlemeas CaHIhHosH &&He 0 :

A': Both Statement I and Statement II are true.

& [ LoHOILD SaHo) I GFeoTBID &
B : Both Statement I and Statement II are false.

Do [ LOHOILD G DO 1 GT60oT(HILD H6U
C: Statement I is true, but Statement II is false.

Famml 1 Fifl, 9LeTTeL o M) 11 H6U M)

D : Statement I is false, but Statement II is true.
FaHml 1 HeUMI, QLE0TITEV oMM 11 &if

How many nations share land borders with China ?
6155 60)60T [HIT(H) 56T F 60T TEY 60T [Bl6V 6TELEMELEHEMETLI LIS T H &I 6 &5 M6 60T M 6T ?

A: 8
8
B: 10
10
C: 13
13
D: 14
14

Conflict attitude refers to

BLOMEE) SIS PODEOW SHIILIS! :
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A': Psychological reality
2_aTeilliey 2_6uoTemLDIHl6tI6v
B: Material reality
QUITHET 2_600T60) LBl 6m6V
C: Physical reality
2 |60 2_6uoTemL0Blemey
D: Virtual reality
QLUIBIGT 2_6uoTen L0Bl6m6ey
The Nehru Government gave shelter to Dalai Lama, but refused to give him permission to set up a government in exile, in the year :

GIB([H T& SV CLITLDITE| &G 60L&V @aarr@gsg,gj 2L,ETIME, BT(H HLESSLILLL SI6UHEES STFMHISHSMS DS
SDIDG) QULDMEIS DDISS 260070

A: 1959
1959
B: 1956
1956
C: 1961
1961
D: 1960
1960

Reason and Assertion type :

Assertion (A) : Peace and Security are difficull concepts to define.
The UN which has as ifs principle purpose the
maintenance of international Peace and Security
neither defines these terms nor specifies the relationship
between them.

Reason (R) In the context of UN the two terms appear to be used
rather loosely and are often interchangeable. Peace
and Security carry distinct meanings within the
academic community, but there is no agreed —upon
definitions of either of these concepts.

SITI600TLD LOMMILD Fn MM CUEDS :

Fami (A) : OO LDMHMILD LIMSISTLIL SbE L6 6U6M T ULIMIS S &L 60TLOITET &(HSSIH&H6T. FIeUCHE DG LoMHMID
UMSISTLmLUL CLSDIOIMNS S Q& TaTend CHTHSHINMHS Q&ML 0.BIT. @H5 615 (L6 M &6 66t T UIMIG 561 606m6V
VLG SlaIMHMIGR L GWWITeT 2 menealds GmILILLalsvemev.

GTFeouTLD (R) : &R W BTH &H6T F6mLIUN 6T @& Lpedlev @ Tetor(h) Q& MMHEEHLD SeTIalTSH 6D Q881 660TMI&6H6 & TeoTmI
IDMTM& G IS TS LWeTURSSLILBGR Tmer. SHevalld FenssH 60 SemMnGIWLLD LIMSISTLILLD &e6ofl& g 6ol mest
ST5 G MHIGHEN6TE 615 T6u0T(H)6EITETET, 2L, 60TITEV @\H5 & & (HG S5 56T ) J600TLY 60T a6 T WM& 6fleL 2 L 6TLIT(H §)6Veme6v.

A: (A)is true but (R) is false

(A) eTaTLIS! &1l QLETITEL (R) 6T60T LIS S61mI
B: Both (A) and (R) are true; and (R) is the correct explanation of (A)

(A) LDHMILD (R) @Tevor(Gh &ifl Lnmmih (R) eTedrLIg (A) —ulledt &iflwiment aflemsan @& LD.
C: (A)is false and (R) is true; but (R) is not the correct explanation of (A)

(A) LDMHMILD (R) @Tetor(HLD &l @b,60Tm6L (R) eTedTLIGI (A) —Ul6dT Fiflwimeot aflemes&sLh 2{6v6v.
D: (A)true and (R) false

(A) etetTLIS! F1f] IDHMILD (R) 6TEOTLISI 1Ml

Besides UN Security Council, the office of UN Secretary General has been the forum for working out peace agreements. One of the final agreement that was
signed with Secretary General as a witness was :

.BIT. LUMSISMLIL &6Y6THl60 ey, &.6IT. QUITSIF QF WEVTET {eVal6u8LD MG 62LILIHS HIG M6 2_(1H6) M G 618 M & Teor
LDETMLOMS @ (HHS! QUMBRMS. QUIMTSIEF QFWETETHLET ST WS @BHS QMG LILBSLD 6260TmI 6T60TLISI

A': Tajikistan
58315\ 610 & 60T

B: Angola
S|BIGSHTVIT

C: Liberia
emeuL Sl

D: East Timor
FPES HCWMT

Who developed the Transcendent Transformative Theory of Conflict ?
'6Telemev LMW 2 BLomHmILD GLOME6) GHMLLIML L' 2 (heum&@Wely Wiy ?
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A': Peter Wallenstein
LSLLIT euITevedTeiy L 6dT
B: C.R. Mitchell
A .oy Q&6
C: Mahatma Gandhi
DS TSOT STHS
D: Johan Galtung
G Mamedr &mev (b mi
Margareta Sollenberg and Peter Wallenstein designed a major armed conflict as :
WLIFSCTLLT GFMeueT@LITES MM LI LT eumeveirauieer e QLW uuls5 CLOTSemev @)6lelmmi 6160 TINS5 60T :

A Cheap labour and preferably as under class
6edeumer 2 emLoLiL] LoMMILD FemLpgs6T
B: Autonomy
FWTLH
C: Energy and its source
SLHDE LIDHDID SFET SpSMTLD
D: Prolonged combat between the military forces of two or more governments or of one government at least are organised armed group

@reu®h LS HSHS CLHULL STFET @IMEasH DS LS HTFTHRSESH DS WS gH W
GwelhHELh GenLulevmer HeoorL / Ble6E CLUTTSH GUGEHMS!

Choose the right answer:
International Conflicts are , Conflicts between

Fflwmer aflemLenwisd CHF6| QFUIS :
FIeUCHE GLOMEEL 6T6TLIGI @ emLulevrment GLOMHEN6VEH GM&ERMS!.
A': Human Rights

el 2 fleminger

B: Climate

SIT6V [Bl6mI16V
C: Non - violence

amlbeng
D: States

BT &6T

Match the following :
The UN Charter also lays emphasis on the Paclfic Settlement of disputes.

| Aricle 33 - a. It says “the Security Councll may, at any stage of
a dispute of the nature referred to in Article 33
of a sitvation of like manner, may recommend
appropriote methods and adjustments.

2l Adicle 36 (1) - b. Specifying Pacific Sefflement of disputes

3 Adicle 34 (3) - [ % It lays down that, should the parties to a dispute
of the nature referred to in Arficle 33, fail to settle
it by means indicated in that Arficle, they are
required to refer it to the Security Council.

4, Arlicle (37) - d. It enjoyk upon the Council to see that legal
disputes brought to ils altention are referred to

the ICJ In accordance with the provision of the
statute of the Court,

Epasimabenn QummbHESIS :

&dw priseaflsr ulLwo - uABlE senwdlurer Siea) - WaHlwsgeud wrg) ?

1 FLLOG ey 33 (a) umgisTiy seysidles Glwmhens GHlSE ahe
Hlsw Sirfeenanast FLLOSflay 33 -siTulg SisveugE

SimCumssTm @ pedlsh sflwmrer Sieysenar
ufipgienrsSng)

2 FLLOOfley36(1)  (b) Apiyudils Siey TERIb Wwenm

3 FlLufley 36 (3)  (c) FLLOf ey 33 -sir Ly, @ BTOUYSHES GeLCw EFey
SimeT @Iwsumedligsv, U SIen L SeysidlgseE
ufibgienrésiu@ang |

4. FLLOO ey 37 (d) ICJ - &g FLL & Henestast LIflhGIenT
QEwOUC R Bripsafis HE5 el msE s
2liuenLuflsy Siey sneeriLGlEns)

A: 1-d,2-a,3-b,4-¢
1-(d), 2-(a), 3-(b), 4-(c)
B: 1-b,2-a,3-d,4-¢




69

70

71

72

1-(b), 2-(a), 3-(d), 4-(c)
C: l-a,2-b,3-d,4-¢

1-(a), 2-(b), 3-(d), 4-(c)
D: 1-a,2-b,3-¢,4-d

1-(a), 2-(b), 3-(c), 4-(d)

Choose the wrong type :

1. The General Treaty for the Renunciation of war - Kellogg — Briand Pact and Pact of Paris

2. World War I started in - 1962

3. All members, shall refrain in their International relations from the threat of use of force against territorial integrity or political independence - Article 2(4) of
the UN Charter

4. The right to offend - Article 51 of the UN Charter

SHEUMITET eUMBM WS CHTHOSHHEHHALD :

1.GUMY BMIss BeqL F® QUM @UIUBSD — Q&HeumeH-LINflwentrL eliLBSWD HmID UTfeu eliUbESWD

2. (PG6VITLD 2 6uas L1 GUIMT SleumIHIW 2y,600T(H — 1962

3. LeTerTL(® QS TLILGET / 2 meywenmuiley en&HQWIMLILLD @)L L 2jenerdhs 2 miLiL] BTH&EHWD 6 (WPeanmuiley
LIctTeoT T () 2 TEIUI6L (IS emeuor LILN6TLI [BL&8 2606081 euMLIMIGS (WIQULD — &L L6 2(4) UN L& Leorin
4. yeorU®Saib 2_flemw - &L LdTey 51 UN LFsLerid

A: land3

I LoHmILD 3
B: 2and4

2 nMHMILD 4
C: 3and4

3 MmoID 4
D: land4

1 LoMmmILh 4

Which of the following is not applicable to Gandhian Philosophy ?
Uereumeuesteu 6L 6181 HTHH W S5SI60USH DS QUTBHSTS ?

A the method of moral persuasion to gain independence
STINS gL ul6) HSHHTLD QLM D& E60)6TS SM600TLY LIS
B: Gave the country a special international Study
2@ AL FIaCsHs gyUlemeal BT IQME QILNBIS WS
C: He always believed in violence
S|eUl TLIGLIMEILD eueiTpemmen W BLOLNeor T
D : Stood for the self respect of individuals
Seofl LTS 6edr & WLDFUIMTen &858 M S166)600T Bl60TM .
Which of the following months are known for severe cyclonic storms in the Indian Seas ?
@[i’;@u_la'a &LeV&6rl6v, & (HemWwmeT @mmelell L& 6T ghU@Geusl, E6L Q&TGH &&LILL G 6TeTeumley 6Thg LoMemigerfley

A': January- February
georeuif] - yeurf]

B: July - August
DOV — B, FH6ENVL

C: October - December
S&HCLMTUT — I &FLDU

D : March - April

OMTFF — gLigev

Match correctly the following agents likely to be used for Bio-terrorism.

1. Anthrax - (a) Yersenia pestis

2; Plague - (b) Variola virus

3. Viral Haemorrhagic fever - () Bacillus Anthracis
4, Small pox - (d) Ebola virus
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2 uNfl0 LWRSTUTSSEI6E LWTURSS sumlilLeTengnss s(meUuhHihn
snyemflasnens (‘eClgpein () semer) &flwrel Qumkpsseyb :

1 S TBST M6 (a) Quidesflum Gushigsiv

2 Glansiemer Grmi (NGems) (b)  eurflGumsur emeursiv

3 eneureiy B réss sdeys (c) b rrdlet umsieflwm
HTUIFFS

4 Guiflwbsnw (d} FELITEUT emeuTeiy

Az (D(d), (2)-(a), 3)-(b), (4)-(c)
1-(d), 2-(a), 3-(b), 4-(c)

B: (D-(b), (2)-(d), (3)-(c), (4)-(a)
1-(b), 2-(d), 3-(c), 4-(a)

C: (1)), @)-(a), B)-d), (4)-(b)
1-(¢), 2-(a), 3-(d), 4-(b)

D: (D-(@), (2)-(c), (3)-(b), ()-(d)
1~(a), 2-(c), 3-(b), 4-(d)

Which of the following statements are true on objectives of the National policy on Disaster Management ?

(i) to undertake recovery to bring back the community to a minimum level than in the pre-disaster stage.

(ii) to promote a culture of presentation and preparedness by focusing on disaster risk reduction as an overriding priority at all levels.

(iii) to undertake reconstruction as an opportunity to build disaster-resilient structures and habitat.

GuflLy Geumeorenouielr CHH W& Q&MaTen & WIS GG Q&TH & &LILILH6TET gammigerfley eTaneu & flWmeTen el mELD ?
(i) 181 BLAIIG GG CLMA&TETAISMNETS, R FUWSTLSMS, CLTLH 6| SHE (WHasW Bleneulledmhg &ammbs
Ble016V8: &8 Q& Meuor(h) 6U([H 6V

(i) eTeveLIT Blemeusaflavid (eTeiflemin Q&ETHSS!, CLUFLT QLSS GammLUILI6 sealard QFasS), ellerTsass STl& Mol
SWTTBlM6VE HTEFTISMS 2615 &6l 5560

(i) GUTLSlemel THFHGLD &L LenLDLIL&Hem6TW D, aUTLpellL&em& WD, LI6TTenLn&: & 6(h 6UTUILILIMGS &) (H&5S6

A: (I)only

(i) LD
B: (i) and (iii) only

(i) LMD (iii) L HILD
C: (i) and (ii) only

(i) nMHMILD (i) L H)LD
D: (ii) and (iii) only

(i) LDMMILD (iii) LOLHID

Match List — | with List =Il

List=1 List-11

Diseases Agents
(A) Anthrax (i) Yersenia Pestis
(B) Plague (ii) Bacillus Anthraces
C) Small Pox (iii) Coriella brunetii
D) Q Fever fiv) Variola Virus

Choose the comrect answer from the options given below.

ULigwsd | -gg uligwsh Il e_Lei QuM(hHEIs |

uliguwisn | uliguiss Il

S5 Cungey SllLb BlpieuesTid
(A) 2 Ugmsor Gomgso e S o 16 SH60T LIGLEENE0E S| SLD
(B8) Sienwd ey Gen ({0} CaunbuTé LSSm0 &HHaHLD
(C) Gumriflermel ghufiD slensrsyssr ()] PRIO

D) Cur SlLLrussmer QSTLIYURSESISZS  (IV) 2 UFTT LUAISMOESPED

&Gy QariHlssiul Bsmer eflmUungsetleslmbhg Fflwrer uSamss Caihes[H&seyD @

A (A)-(D), (B)-(ID), (C)-(ID),(D)-(IV)
(A)-(D), (B)-(ID), (O)-(I1I), (D)-(IV)
B (A)-(ID), (B)-(I), (C)-(IV),(D)-(I1T)
(A)-(ID), (B)-(1), (C)-(IV), (D)~(III)
C: (A, (B)-(IV), (O)-(IID),(D)-(D)
(A)-D), (B)-(IV), (C)-(1I), (D)-(1)
D: (A)-(IID), (B)-(ID), (O)-(IV),(D)-(T)
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(A)-(m), (B)-(ID), (C)-(IV), (D)-(D)

Which of the following is incorrectly paired ?

(1) ADRC - Asian Disaster Reduction Centre

(2) CZMA - Coastal Zone Management Action

(3) NCMC - National Crisis Management Committee
(4) NERC - National Education Research Centre.

L 6576 (15 61 60TEU D MU 6T 6T HEUMITE E)6M600T&: & LILIL (DeTerng) ?
1. ADRC-&, AW GUILT GemmLIL] emLowlh

2. CZMA-&LH&MT LGS CLoeuTeTenlo HIL L LD

3. NCMC-CGaF W QB ([H& &1 GLOGITETITEmL & (LD
4NERC-G5H W &Hevall oMl emowlid

A 1and 3 are correct
1 mmih 3 &
B: 1 and 2 are correct
1 Iommub 2 &ifl
C: 2and 3 are correct
2 ommib 3 &Fifl

D: 3 and 4 are correct
3 mHmih 4 Fifl

Choose the right matches among the severeity of pollution.
(1) "Red" represents - Highly polluting Industries

(2) "Orange" categories - Mild polluting units

(3) "Green" represents - Marginally poluting units

(4) "Blue" represents - Moderate poluting Industries.

SHHenLDLITeoT LDTELIHS) & MG Sl6Te FflWmesr QLIMBS S HIHM6TS CHI6| QFUIS%.
1. ' Reauliy GMULS - 25 & LTGHUGSSID QST HEFTen60 s 6T

2.'@LTEH S QNS SET — LAGIDMeT LMg:LH &SI Q& T MH & Menevss et

U GMILILG — @UeTe| oM&LBHSSID QMM & meneu&ser

4'Beuld GMILILG! LOGLWOTET LME&HUG SSID Q&M F T 608 6T

A 1and 3 are correct
1 mmib 3 &l
B: 1and2 are correct
1 Hmib 2 &
C: 2and 3 are correct
2 I0mmitd 3 &F1fl

D: 3and 4 are correct
3 WmmIb 4 &Fifl

Given below are two statements : One is Labelled as Assertion (A) and the other is labeled as Reason (R)

Assertion (A) : Integrated approach to Disaster Management became a global Phenomenon with different countries revisiting their existing practices of Disaster
Management in the light of this approach.

Reason (R) : This approach aimed at reducing their vulnerability to disasters in the first place, and minimising the losses in case a disaster strikes.

In the light of the above statements, choose the most appropriate answer from the options given below.

FECLD @T6T(H FnMMIGHET Q& T(H &S LILIL (HeTerenT :

R60TMI MM (A) 6TEOTAYLD, LDMGQMTETMI &HTFesorid (R) eTeorayld QUKL LI @G eTernsi.

Fadmi (A) : LLGeumI BB &6rlev GUIFILT GLo6LTEsoTemLOUI 60T 62 (HMHIGH eMETTHS 2 S0 (S (LD MM UWITEOTS, 2 608 6T Tall W
Bl&LD6ITS &(HSLILLG), H60 L (MU IETET 26mIE Wenm&emeT ST MlbS CLLUGSSLUILGRMS!.

&myeorid (R) : CUIILT gMHUGSSID (NG6V LITHLIL|GHen6T &6uor b, @LoLILIS 66T GeMmLUILIGSMETeT GLoMmLILg.
21600 (& (P MU 6T GBM&HSHD 3L@E&LD.

GLG6V 2 66T S mmisafleTLlg, B Q&EMTHI&&LILL G 6Temeumlel L& QUITIHESSLOMET LFeneus CHIHOSH &HaLD

A: Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) oI (R) @resor@® b &ifl Inmmild (R) eTedrLIg (A) —ulledt Fiflwimeor elend: &b oy, @&LD.
B: Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(A) DHMILD (R) @retor(LD &l S60rm6L (R) 6T6dTLIGI (A) —uN6dT Fiflwimeot aflemas&sih &{6v6v.
C: (A)is correct but (R) is not correct

(A) eTeTLIEI &1l L,60TM6L (R) 6T60TLISI &Fiflicvev
D: (A)is not correct but (R) is correct.

(A) eTeTLIE! FilUI6L6V LEoTITEV (R) 6T60T LIS &if]

Which one of the following phases attempt to prevent Hazards from developing into disasters altogether, or to reduce the effects of disasters when they occur ?
GuUlLI&eTmeL gHLIGID QLI LUSSIH6T SHIEHGD WNWMHF 3j6vevg CUFILF UMTHILIL&HEm6T Genmse: &L
BLAIIQ &GS 60 FHLGID LI BleMeV ST 6Tenal ?
A: Mitigation
S euof1LIL]

B: Preparedness
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SWITH Blemey

C: Response
THTFQFILIGL
D: Recovery
S

The word Tsunami has been derived from the
FreormLe 6TemILD Q& M6V ~W®mHE QUOLILILL .

A French word

NQrEhs eumis&ens
B: Latin word

QeSHeT UMTSmS
C: Japanese word

sliLmeflw aImisSens
D: Greek word

RCIEHS QUMTIHNS

The National Institute of Disaster Management (NIDM) was established on
GsH W CUFILF Gevmetorenln Blmiealerd CHTHmieN & eI L BITeT

A Sep 23,2002
Q&L LU 23,2002
B: Augl4,2001
SL&6EL, 14. 2001
C: Oct 16,2003
9I1&5CLITUF 16. 2003
D: Aug 14,2004
LG56VL 14, 2004

CA4ISR refers to :
C4ISR -5 GMIILILIGI :

A: Command, Control, Communication, Computers, Intelligence, Surveillance and Reconnaissance

&L Lener, BLGLUTH, QS TLITL, &evoflevf], Blevoremornile, &6uorgs mevoflLIL] IDMMILD 2_6Ted Slemm
B: Command, Control, Cyber, Computers, Intelligence, Surveillance and Reconnaissance

S Lener, SLGLUTH), WerQeuer], &evofleof], Hicoorevorniley, 860018 mesol1L1L]| LDMHMILD 2676 & &6t M
C: Control, Communication, Computers, Connectivity, Intelligence, Surveillance and Reconnaissance

SLOLUUTE), QSITLITL, &evofleofl, @) 6meuorLiL| Hievoreoor M6, 8600185 Meuof1LIL| DMHMILD 2 66 & SIemm
D : Control, Communication, Connectivity, coordination, Intelligence and Reconnaissance

SLOUUTG, QSBITLITL, @)60600TLIL| 62(HMHISH 6m6vorLIL|, BHl6ooTeooT W16 LOMMILD 2 6765 SIemm

Given below are two statements:
One is labelled as Assertion (a) and the other is labelled as Reason (r):
Assertion (a): Constitutional articles, doctrinal documents, laws and a budget alone do not produce military performance
Reason (r): Politicians determine the defence budget according to the maximum principle, whereas planners determine financial demands by the minimum
principle.
In the light of the above statements, choose the most appropriate answer from the options given below:
GG @ T6tiT(H) FoMMIGET QSHTH &8 LILIL (B 6TETeT :
R60TMI FnMMI (A) 6TETMILD, DM MITETMI STF6sorid (R) 6TedTmild QUWIflL LIl (B eTengl.
Fammi (A) : ATRWeeDLIL] &L B0 T&6T, GHTLLITL () 2616007 hIGET, FLLMHI&GET MM eiye Q&Fee] LD 0L HiGW
@ ITEmIa Q&F LT MENET 2 (HEUTHSHTS.
SITI6ooTD (R) : A TRWLAITH&HET LITSIGTLIL e1T6] QFaels S L GmMS AH&LLF Q&MerendsullerLig
STl &R MTIHET, HCH FLWb S LIHLTSET BH& CHM&ameHHe6T GenmbsLILF& G5 TeTen & LImey
SLmefl &S mTIeeT
GLG6V 2_6iTerT FnHmIGeflerLg, B QaTH&HEILLH6Ter all(hLILMS6mef®h&! L&a D QUTHSHSL0MeT LHenevs
CaIHOS(H &S| :
A': Both (a) and (r) are correct, and (r) is the correct explanation of (a)
(A) O DD (R) @Tevor(GID &Fifl LM MILD (R) 6TedTLIS! (A) ~UNedT Fiflwimer aflem& s b @&LD.
B : Both (a) and (1) are correct, and (r) is the not the correct explanation of (a)
(A) LDHMILD (R) @Tevtor(id &ifl LoMMILD (R) eTedTLIS! (A) ~UN6dT &Fiflwiment ellemas&Lh 36V6v.
C: (a)is correct, but (r) is not correct
(A) eTeTLIE! &1l QL,60TT6V (R) 6T60TLISI &Fifluisuev
D: (a)is not correct, but (r) is correct

(A) eTedTU ! FIflWI6V6V L6euTITeV (R) 6T6dTLIGI &if]
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Assertion (A): The Uruguay Round Conference of GATT formed the consensus for the establishment of the W.T.O

Reason (R): W.T.O. came into being on January 1%, 1995

Famml (A) : GATT —WleT 2_B&Cal &mmi I0MBTH W.T.0 - Bloeeushamer @BLSS &HHMS 2 (HaUTHRH WS

&Iyeoorid (R) : W.T.O. g3eureuif] 1. 1995 —E)6V [B60IL(LNEDME & 6UHSH Sl

A: (A)is true, but (R) is false
(A) ettt F1f] SL60TTeV (R) 6T60TLIGI S6UmI
B: Both (A) and (R) are true, and (R) is the correct explanation of (A)

(A) LDHMILD (R) @Teoor(Bh &Fifl Lnmmih (R) eTedTLIG (A) —ullet Fiflwiment afleméan @@ LD.

C: (A)is false, but (R) is true

(A) eTTUISI HeU, (R) 6T6TLISI &I
D: Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(A) LMHMILD (R) @Tetor(HLD &l 9b,60Tm6L (R) 6TedTLIS! (A) —ul6dT Fiflwiment aflemedsgsLh 2{6v6v.

Choose the right matches among the following:

(1) TRIP - Trade related Aspects of Intellectual Property Rights

(2) TPRM - Trade policy Review Mechanisms

(3) IFC - Indian Finance Commission

(4) IDA - Indian Defence Agency

Wesreueuetteumnilev &flWimeT QUIMHES S M & 6Ts CHIHO &M &S :

1. TRIP - 9ifley &y Q&FmS S lennuiedr auFSSHID QG ML JLITET S{LD& MhIg 6T
2. TPRM - QU558 Q& M6Tens nml ulle] elldlnenmas et

3.1FC - @BH W BS) 21,60)600TWILD

4.IDA - @BH W LTSS TLUIL| Blmieuerid

A: land4

1 LMD 4
B: 2and3

2 LDMHMILD 3
C: land2

1 LDMHMILD 2
D: 2and4

2 InMmMILD 4

Ancient Military System of "Condottieri" was an
LI6TOTEm LI @) [T TETDI6 {60 LOLILITE0T ahsé]uueml_g, SHEMEVAUTSET (‘Condottieri')

A': Indian Model

@bew nr&

B: Ttalian Model

@ssmeilw wrs i
C: Irish Model

Swreurhgl LnmG i

D : Indonesian Model

@BCHTCarAW LTH i

G0,

"Economic activities falling under the influence of the armed forces, regardless of whether they are controlled by the defence ministries or the various branches

of the armed forces or specific units or individual officers" is often referred as

"UMSIGTLIL SeMDFFHMIGH6T V60S UG L LienL &6rfledT LiIsEGeaum @mmasm levevgl FewaLl LiflelseT ojeveug)
seflliul L @ asmilsermey &L HILLG S LILG S 6TMeorelT 6TedTLIenS L1 QUITBL LGS STLO6, LW S L Lien L gerfler
QFLAITEHSR 6T BLp QUBLD QUITIHETTSITT HL 6] 560885 6T," eTetTml GMILILN L LILIG S edTm 60T

A: Military economy

@ rTevIalLl QUITHETTSTTLD
B: Military capital

@UmEmIe eHEVGEDTLD
C: Milbus

QI TEDI6! &P 60T UTE S [FL 6L & 6M& 6T (Milbus)
D: Milcap

@rrenial - smdhaimm - s mibleumery gl H\me| (Milcap)

Which of the following is correctly paired ?

1. CCPA - Cabinet Committee on Political Affairs

2. CCA - Cabinet Committee on Accommodation

3. CCEA - Cabinet Committee on Environmental Agencies
4. CCS - Cabinet Committee on Sustainable Goals

LN edreumeusoreummlev 61&l Flwims @) eneoords&LILL G eTeng! ?
1. CCPA - 9|TEIWIGL eSS @555 TET | eNDFF TN & (LD




2. CCA - GIQUIBLILITE & TET eNLDEFTemeals & (WD
3. CCEA - & MIF @060 6MLOLIL| 5 EH&HHTET 6MINFFTMeUs & (W
4. CCS - BlemELIITET B)6V& &8 @& T JODFFTMEUSH G (LD

A: 1 and 3 are correct
1 nmmuib 3 &ifl
B: 1and 2 are correct
1 Lo 2 &Fifl
C: 2and 3 are correct
2 I0mmih 3 &Fifl

D: 3 and4 are correct
3 WmHmih 4 Fifl

Choose the right matches of authors and their books:

1. Defence Economics - Marcus Matthias Keupp

2. Regional Security and regional cooperation - Bharti Chibber
3. Public International Law - Jasjit Singh

4. Environmental Hazards - Pankaj Udhas

FEC QEHETHSHSELILL B ETET 6T &S TeTFSHET LDMHMID aIFSHET eTWH W LS5 58MI&6Te0BHE &ifluimeTll QUUIMIHS S M & 6m6Ts
CaIBOSH &HaLD :

1. 19QLI6OTENV 678G 60T ML G561V (Defence Economics) — LOMF& 8610 OGS UITEN &Ll

2. fbleoteL QEs WL 1 ojevorl FedleoTey GosmayLILIGTaq6dr (Regional security and Regional cooperation) — LITFL_ L6V GerflLiL

3. uLlerfl& @)erLFCBH6aq.60r6v 6LIT (Public International Law) — 8260edl & &bl

4616076 [T TEOTQILOGOTL_6V Q@MENITITL_6MV (Environmental Hazards) — LIMGI&HE 2_& M6

A 1and3 are correct
1 nmmih 3 &
B: 1and2 are correct
1 Hmib 2 &
C: 2and 3 are correct
2 ommib 3 &Fifl

D: 3and 4 are correct
3 WmmIb 4 &Fifl

Maastricht Accord was signed in the year .
e fl&F 2 Lerum®, S1,600T1.60 eSS LU L &I,

A: December 1991
Q&L 1991
B: December 1999
Q. &FLOLIT 1999
C: January 1995
sgeoreurf] 1995
D: January 1996
sgeotau {11996
Choose the incorrectly paired:
1. IBRD - International Bank of Resources and Development
2. IMF - International Monetory Fund

3. IFC - International Forensic Corporation
4. International Development Association

FUMTSH @) en6toTsGLILL LGS CHTHOSH &8 LD:

1.IBRD - @ 60T T GHaq6Tev GLIMIG &L FIGEFTIFa 96T QL eIV IQL06TL (IBRD)
2 IMF-@)\60TL T BB 6016V LOmeofL[f] &LIGTL. (IMF)

3.IFC-@\60TL T G5 60T60 &LIMTTeT& & &MTLCTaqedr (IFC)

4.IDA- @ 6T T GHAQ60T60 QL aIeVLIQIN6TL. CFTH I 6T (IDA)

A: 1and 3 are correct

1 Lnmmih 3 @uesor(Gb &ifl
B: 1and 2 are correct

1 LHmIh 2 @uesor(G b &ifl
C: 2and 3 are correct

2 MM 3 @uevor@L &ifl
D: 3 and 4 are correct

3 MMID 4 @resor(BLD &if]
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Match List - with List Il

List 1 Listn
Term Meaning
{o). Phishing 1. hacker demands a certain amount of money in exchange for accessto your own
daota.
B). Mabware ). Theunsoiicited sending of bulk email for commercial purposes
lc]. Ronsomware ().  Attempting to acquire information, such as user names, passwords and credit card
details
id). Spam (V). s a file or code typically delivered over a network, infects, explores, steals or conducts
virtually

Choose the comect answer from the options given below:

uligwst | g0 ulywe Il e.Ler Qunmbsis :

wilipiaes | ulipwen I
SUNTEHENE SATHHD

(a) @enemmuafl (Phising) m Camas] (Hacker) s Clanhs Srene
Cuormey SIEDUSUSDE, FLIE @ SIS

Cipmenmeniu CummElmmi

{b) Friudlen g o (i sussfls: Cunssmiaghbhnns Clongs
QuosirClumsit (Mabware) ufsitemmhaeney EHETTMOE SIgULEH
(c) usmTwgS s )y wwen§ Quw, SLayFClEnhEsaT wHpb
[Ransom wara) EC Tyl s efleugnuser Curetm
Seauiaenal Qlum wwh#sRng
{d) CampuuLnss (V) m Caniy Sisbeug @ifuiimesg |
(Spam) Qungisura Gy Senesmmugflio

effCwrdlssluBE ng. AsmHoEmE.
2ymlRng, HEHEDS HO0E
BEnLEpEnDUTED b b RSS!
£Gy Qanfaaiul Herer efimuunsafislimbs sflunsr ufldnenans
CaThelshsanb :

Az (a)-(D), (b)-(1D), (¢)-(IID), (d)-(1V)
(2)-(D), (b)-(ID), (¢)-(I), (d)-(TV)
B (a)-(ID), (b)-(IID), (c)-(IV), (d)-(T)
()-(1D), (b)-(IID), ()-(IV), (d)-(T)
C: ()-(Im), (b)-(IV), (c)-(1), (d)-(ID)
(2)-(1I), (b)-(IV), (c)~(D), (d)-(IT)
D: (a)-(IV), (b)-(D), (¢)-(ID), (d)-(1IT)
(@)-(IV), (b)-(D), (¢)-(1D), (d)-(IIT)

Which Pakistani General declared that the nuclear option will promote regional peace and create stability.

eI F&HF 0 LIWTUGSSID (D196 LITTHSIW SennSHemil 26185 G el &G0 LDMHMID VG T8 ST L0en L 2_(HeU T8 &L

GTEOTMI 6THG LITER 6N & MeiT Q60T 6V S MGG mi 2

A: Gen. Yahya Khan
@ 60TI6L WITEMUIIT &5T60T
B: Gen.Musharraf
Q6T (LAY MTSLI
C: Gen.Md.Zia.Ul.Haq
QRETT6 (N&ING BlWMT-2_0-ams
D: Gen.K.M.Arif
Qe6TT6eL G .6TID. 2 If1LI
‘Which of the following are built Indegenously in India
I.Tejas Light Combat Aircraft
II. Dhruv Light Combat Helicopter

III. Babur Missile
IV. Arjun Main Battle Tank

LY edraumeusoraummley stemeu @HH WIMalley 2 aTBHML1gCauCW SWTH&SLILLLemnel ?
1. GExMe G eu& T GUITH aillomerid (LCA)

L3I §ev&Is GUITH allinmeorid (ALH)

II1. LML 6 8560)600T

IV. 9IFegeer QLouledT GLILD LI (Main Bubble Tank)

A: 1,11, and IV are correct

L 11, IV eTedr LI &Fiflwimeors
B: II III, IV are correct

I, 111, IV eTedTLIg &1fl Wl meorss!
C: LI, IV are correct

L IIL, IV etedTLI g Fiflwimeorg)
D: I, IL I are correct

L II, 111 eTedTLIGI &1flUlImeoT&sl

Who invented the Wireless Telegraphy ?
QUITGI6V6N 5T 6m U (Wireless Telegraphy) &6vor(H\LN9. & &euT Wiy 2

A: Sundar Pichai
&HsT LNgans
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B: Dr. A.P.J Abdul Kalam

L&Y ¢.19.C8. 918160 &H6eurmld
C: Guglieimo Marconi

&565@M MT & meof]
D: Hans Morgenthou

QMITeTeN GLMTQ&HHESHT

Match List - | with List Il

List | List 1l

Type / Range (Km)
Designation

(a) Mirage 2000H /Vajra (U] 350

(b) Prithwvi | (1L} 5,000 +
(c) Agni Vv (my 1,800
(d) Dhanush (IV] 150

Choose the correct answer from the options given below :

uligwsd | -gg uligwed Il Lt lumme s :

utigwsbl Al
aens | ugel) sugby (£).8)
(a) gy 2000H/suggrm 1] 350
®)  Sfges1 (i 5000+
(c) S deafl v (my 1,800
(d) EEeH vy 150

&Cp Carplésiul Gerer eilmuLsSlsdlmba #flwrer uSmeas BsTHelsEHaseyw :

A (a)-(ID, (b)-(IV), (o)-(1), (d)-(I)
(a)-(II), (b)-(IV), (¢)-(III), (d)-(T)
B: (a)-(ID), (b)-(D), (c)-(1V), (d)-(I1T)
(a)-(1), (b)-(D), (¢)-(IV), (d)-(IIT)
C: (a-(m), (b)-aV), (c)-(D), (d)-D)
(a)-(I0), (b)-(IV), (¢)-(II), (d)-(T)
D: (a)-(D), (b)-(D), (c)-(1V), (d)-(IIT)
(a)-(I), (b)-(ID), (c)-(IV), (d)-(IIT)
Match the incorrectly paired
1.CIRUS--Central Institute for Rural and Urban Studies.
2. DAE--Department of Atomic Energy

3. IPKF--International Peace Keeping Force
4. DEW--Distant Early Working

SMTSH @)en6rors&LILL LS QUITHS SIS :

1. CIRUS - @mioliLm Lommild BSTLILM 2016|5668 8 Ter 0&S W Hlmiel6rin
2. DAE - S|s0I55H S &l6enm

3.IPKF - FFeUCHF {en0H HM&HGLD LI

4. DEW - QG Ten6eLSEITT (LN6OT 6T&F&FIf1 560185

A: 1and2 are correct

1 oMb 2 Fflwmersl
B: 2and 3 are correct

2 I0MmmID 3 Fiflwimersl
C: 3and 4 are correct

3 MM 4 Fiflwimersl
D: 1 and 3 are correct

1 Inmmib 3 Fiflwimera

Which of the following is correctly paired

1.CCEA--Cabinet Committee of Economic Affairs

2. CCPA--Cabinet Committee on Parliamentary Affairs

3. ACC-- Appointments Committee of the Cabinet

4. CCC-- Cabinet committee of Censorship

eraumeusoraummlev eT&l &lwimg QUIMBSSLILIL (B 6Tems ?

1. CCEA - QUITBETTSTT aleU& T IS @555 6T M EFFTmals G W (ST LA 1 aLell eT&TaT TS 36 LIWIFev)

2. CCPA - LUIMFMEBLO6OTM 6516185 T 1615 615 & & T60T 2{MNEFFTen6Ud G W (HTLICTL &AL 1q 26T LMTed@wedTL il ojemLIwFe)
3. ACC - SN EFFTeamal BIWLILD6TS & (W (JLILMETL QT 6 &AL apsll & ST 6TL)

4. CCC - & 6001660 5 &5 M6 2|MDEFTMaIS G W (STLIQ6TL SLAL I sl QFaTemTaL)

A: 1 and 3 are correct
1 Lomomid 3 Fflwmersl
B: 1 and 2 are correct

1 LommIb 2 Fflwmersl
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C: 2and 3 are correct
2 I0MHmID 3 Fiflwmersl
D: 3 and4 are correct

3 MM 4 Fiflwimersl

Match the following :

(1]  NAG (a)
(2) ASTRA (b)
(3)  TRISHUL lc)
(4)  AKASH (d)

Anti Tank Missile

Surface to Air Missile

Short Range surface to Air Missile
Air Defense Missile

Choose the correct answer from the options given below :

Ulereu (meustrsumsmm GlUm(pSHa)s :

1, mrs (NAG) (a
2. apaulym (ASTRA) (b)
3 #ifl@s0 (TRISHUL) (c)
4. 24, 5Mei (AKASH) (d)

Az (1)), (2)-(c), 3)-(d), (4)-(b)
1-(a), 2-(c), 3-(d), 4-(b)

B: (D-(a), (2)-(b), 3)-(c), ()-(d)
1-(a), 2-(b), 3-(c), 4-(d)

C: (1), @d), B)-(a), (H)-(b)
1-(¢), 2-(d), 3-(a), 4-(b)

D (1)-(b), (2)-(c), (3)-(d), (4)-(a)
1-(b), 2-(¢), 3(d), 4-(a)

Assertion(A): Defense allocation is a political decision aimed at balancing security with Social concerns.
Reason(R): Resources allocated to military are not availiable for other Social needs of the nation.

FaMmi (A) : UMSISTLIL 31580 6TeTLISI Fend S&&emMMUIL6T LUMSISTLmL FplenellL(GSSlalans ChTe&I0MS g

Q& MeuoTL. 2| THFIW6Y (LOIGeUMESLD

SITIenuTLD (R) : @UMEIISH M & @S16H6LILIGID 6UETHISGET BT Q6T LIM Fenss C5H6malsHEHoEGs &6 LTS

A (A)istrue but (R) is false

S el Ty ey sementt
FenTullebl(mibs s o aySen erT

GOISIW ST Hevgullstlmibs) sumesr
Blevsenms 580 a|senemr

SUTEHT LITHISTUIL| ]61| 565 euuT

(A) eTetTLIG! &1f] 91,60TIT6V (R) 6T60TLIGI S6UMI
B: Both (A) and (R) are true; and (R) is the correct explanation of (A)

(A) LDHMILD (R) @Tesor(h &ifl Lnmmith (R) eTedrLIG (A) —ullet Fiflwimenr afleméan @@ LD.

C: (A)is false (R) is true

(A) 6T6TLISI Sauml InMMILD (R) eTedr LIS &if]
D : Both (A) and (R) are true but(R) is not the correct explanation of (A)

(A) MHMILD (R) @retor(LD &l o,6e0rmeL (R) eTedTLIGI (A) —ul6dT Fiflwimeot aflamdsgsih &{6v6v.

Who said about always an effort to improve the teeth to tail ratio of the army by reducing the logistics tail.
S6T6UITLMEIG6T (LPemeoT (logistics tail) @GeMMLILIGE0T eLN6ULD E) T MTesI6u &S 60T (e &—(h—-GIL L6V (teeth-to-tail) 611R H G

GIDLIRNSSI0SMHSTET (WWMHF e LM Senfluwig wmy ?

A: Maj.Gen.V K Singh

Gl QKarys al.Cs. FIm
B: General V P Malik (Retd)

Qgeryev afl.L9. 1medls (ula)
C: Lt.Gen.S. Patabhiraman

Q6VL1Q 60T60TL. Q18360TT6V 6T6rV. LIL_ LML Lo edT

D: Colonel P K Gautam (Retd)

Q&ETATeTE L1.C5%. Q&6msHLD (Ul6)])




